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Xij=1 :
Xij=0 :
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i

X11+X12+X13+X14=1
X21+X22+X23+X24=1
X31+X32+X33+X34=1
X41+X42+X43+X44=1

X11+X21+X31+X41=1
X12+X22+X32+X42=1
X13+X23+X33+X43=1
X14+X24+X34+X44=1

S = S =

(=1,2,34 ; 71,2,3,4)
(=1,2,34;=1,2,3,4)

2z Xij
71

> Xi
=1

(i=1,2,3.4)

(71,2,3,4)



Z

Z = 6X11+1X12+9X13+3X14+
2X21+5X22+7X23+8X24+
6X31+3X32+5X33+4 X34+
3X41+5X42+2X43+1X44

MIN 7 = 6X11+1X12+9X13+3X14+2X21+5X 22+ 7X23+8X 24+
6X31+3X32+5X33+4X34+3X41+5X42+2X43+1 X 44

Sub.to

4

z Xi (i=1,2,3,4)

4
> Xi (i=1,2,3,4)

Xj {01} (=12, 4 =12, 4)
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A,B,.CD
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D

)=1

)=1

(A,



AD

D,

)

2)(A,

3)

IIIII



4)

(A,

)

(B,




(Local Search Method)

L |
L}

Greedy Method),

(Stingy Method))




X
(Neighborhood) N(X)

N(X)

N(X) o
(Neighborhood Search)
(perturbation)




X (AB,CD)=(3412)

1)
2) X=(34,12)

3 4 - Xl = (4131112)

4 1 - X2=(3,14,2)

1 2 - X3=(34.21)

f(X)=28 , T(X1)=21, 1(X2)=20, f(X3)=23

3) f(X2)=20 X2

X2=(3142) - B: D: A: C:

20



X
X

NCX)  FCX)>(Y) y(y  NCX)
y
NCX)  FCX)>(Y) y(y  NCO)
¢ )

C ) N(X)
(Local Optimal Solution)

(Global Optimal Solution)



X (AB,CD)=(3412)

1) rotate

2) rotate

(153 2.4 3.1 4.2

3) 1) 2)



